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QUESTION 1

Which of thefollowing should be avoided regarding the use of Match Improvement Strategy?
A. Use only one Match Pass.

B. Set critical values for important fields.

C. Add additional passes.

D. Adjust weights using weight overrides.

Correct Answer: A

QUESTION 2

Which of the following examples represents "inconsistent standards"??
A. DataSource 1: 99999, Data Source 2: 41102

B. Data Source 1: CA, Data Source 2: Calif

C. Data Source 1:, Data Source 2: 415-392-6000

D. Data Source 1: Robert Jones TTE, Data Source 2: FBO Robert Jones

Correct Answer: B

QUESTION 3

Which one of the following statements is TRUE?

A. Significance of discriminating value and frequency can both be calculated from your data.
B. Significance of discriminating value and information content are related.

C. Significance of discriminating value and frequency arerelated.

D. All of the above.

Correct Answer: D

QUESTION 4
What is Character Concatenate method used for?
A. To investigate one or more fields to uncover any relationship between the field values.

B. To analyze data using one or more character masks.
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C. To generate reportsfor frequency and pattern references.
D. All of the above.

Correct Answer: D

QUESTION 5

Which of the following is TRUE regarding the use of Match Blocking?

A. Blocking fields are grouped using the primary key\\'s hash value.

B. Each Block has 1000 records.

C. Every record in the block becomes an automatic residual.

D. Blocking fields must match exactly for a candidate set to be created/evaluated.

Correct Answer: D
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